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[Quick Review]

[1] Ans) B

[2] Ans) <

[3] Ans) +-0F

[4] Ans) 213}

[6] Ans) O

[6] Ans) O

[7] Ans) QA3

[8] Ans) 6

[9] Ans) A5

[10] Ans) <

[11] Ans) O

[12] Ans) X

[15] Ans) +

[16] Ans) O

[17] Ans) 94

[18] Ans) O
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[19] Ans) =, =ik

[20] Ans) s = jw
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7.1 Ans)
_ 1 _ s+ a)
(@) X(s)=——(1—c )
(b) X(s)= =
S
© Xls)=
C s ( 2—|—a)§)2

7.2 Ans)
(@) X(s)=2"2
S
(b) x(s)=— 21
S
(c) X(s)= S—’;lefs
() X(s) =
S
7.3 Ans)
(@) Y(s)= 206
s“+6s+8
. s2+6s+7
(b) ¥s)= (s> +3s+2)°
(0 v(s)=-5¥3)
s +3s+2
_ 5+3
(@ Yis)= s(s2+3s+2)
7.4 Ans)
(@) y(t)=tul(t)
) yt)=u(t)+ult—4)
(c) y(t):u(t) tu(t)
(d yt)=(e""— e 2Dult)
7.5 Ans)
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(@) z(t)
(b) z(t)

(— 3e 2 +7e_4t)u(t)

5, 5.5
(2t 4+4e Yu(t)

() 2(t)=(—e 2 +t% —te T4+e DHult)
(d) l’(t):(672“72)+673(t72))u(t*2)

7.6 Ans)
(@) (0)=limsX(s)=1

§—> 00

z(0)=1imsX(s)=0

5s—0

zt)=(—e "+2e ) — 20)=1, z(c0)=0

(b) z(0)=limsX(s)=1

§—> 00

z(0)=1imsX(s) =2

5—0

x(t)=(2—672t)u(t) — 2z(0)=1, 2(c0)=2

(c) z(0)=limsX(s)=0

§—> 0

z(0)=1imsX(s) =2

5s—0

z(t)=02—-2¢""—te Dult) - z(0)

(d) z(0)=1imsX(s)=0

§—> 00

z(c0)=limsX(s)=1

5—0

zt(t)=(10—e "cost)ult) — 2(0)=0, z(0)=0

7.7 Ans)
(a) y(t)ZZeftu(t)
(b) y(t)= (2+6t)e *u(t)

7.8 Ans)
_ 2
A -
(a) <l T H( ) ( +1)(s+4)
D2 S AT FRE SEes Jusel 4 & Yt

A S5 yt)=( —%e_urie_“)um
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QA2 $F b= (g '+ e Dult)
AT SRyt = (E- e — e ul)
2

C (s+1)(s2+25+2)

g~ 2 h(t)=2(c t—e tcost)u(t)

Ad 5 1 ylt) =02 "+e fcos(t+ %))u(t)

_ 2s+1
(a) A&sh4 © H(s) 5
s+1

olg A~ et h(t)=—25(t)+e ult)

2
(b) Aear (s) == tdstS

s+1)(s+2)
g e h(t)=80)+2e tult)—e Pult)

d
i\
g

—s?4+s+3
s(s+3)

A~ 2 h(t)=—680)+ (1 +3e *ult)

(c) ALt : H(s)=
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7.11 Ans)
(@ (1) z@)=tult) = Et—1Dult—1)—ult—1)
(ii) X(S):—%efs—f—%(l_e*S)

1

Gii) X(s)=f£{tu@)—t—1uGt—1)—u(lt—1)} (1—e %)— ;e_s

1
T2

S

() (1) z(t)=sintut)+sin(t—m)ult—7)

. 1 B
(ll)X(s)——s2+1(1+e )

1
241

(iii) X(s)= £ {sintu(t)+sin(t—mult—n)} = (1+e ™)

) (i) z@)=tut)— (t—1Dult—1)—ult—1)+e e " Vut—1)

v _7l -5 L =5 1 —(s+1)
(ii) X(s)= c +32(1 e )+S+le

(iii) X(s)= £ {tu(t)*(t*1)u(t*1)*u(tfl)—Fe*le*(t*l)u(t*l)}

fL =5 _l -5 1 —(s+1)
52(1 e %) Se +—S+1e

@ (i) z(t)= %tu(t)—%(t—5)u(t—5)—3u(t—5)+u(t—10)

(i1) X(S)ZE(efws—?)e*‘r’s)-i- %

S

(1—e™")

oo

(i) X(s)= £ {%w(w— %(t—S)u(t—5)—3u(t—5)+u(t— 10)}

21 _ 1, _ =
= E_Z(l_e 58)4—;(6 108—36 as)
S

7.12 Ans)
() X(s)=3+—2e 2
S
(b) X(S):%(6*5_e*3s)+%(e—s_36735)
S
©) X(s)= Silew
+3
d) X(s)=-—3"2 ~(+2)
@ xls) (s+2)26
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7.13
(a) Ans) 2(t)=z(t)+2zt—D+zt—2T)+ -+ 2@t —nT)+--
L X(s) = ———X(s)
l1—e
(b) Ans) (a) X(S)Z%(678+6738*e 1)
s(1—e™ %)
b) X(s)=— L e
sS(14+e %) s(1—e )
7.14 Ans)
(1) RL 3=
@ 2% 4 i) = o)
1 -4
(b) h(t):fe Eu(t)
1
(c) Hw)= I
1
(d) H(s)= Tot B
(2) RC 3=
di(t) 1 .., dv(t)
(a) R o Jrzz(t)* 7

R:C
_ jwC
() Hlw)= 1+ juRC
o Cs
() Hs)= RCs+1

7.15 Ans) y(t) = (4—4e” * +16¢ *)u(t)



